
GS S
CORE

4PTS2021/PPP-01/112020/02

Which of the above statements is/are correct?
1 only (a) 

1 and 3 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

Which of the following statements is/are 14. 
correct about Preamble?

In Berubari case, the Supreme Court 1. 
ruled that the Preamble is not part of the 
Constitution.
Parliament can amend Preamble.2. 
It is justiciable, that is, its provisions are 3. 
enforceable in courts of law.

Select the correct answer using the code given 
below:

2 only (a) 

1 and 3 only(b) 

1 and 2 only(c) 

1, 2 and 3(d) 

Which of the following statements is/are 15. 
correct about the term ‘Fraternity’?

System of single Citizenship in Indian 1. 
Constitution promotes feeling of 
fraternity.
Preamble declares that fraternity has to 2. 
assure the dignity of the individual and 
the unity and integrity of the nation.

Select the correct answer using the code given 
below:

1 only (a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Consider the following statements:16. 
Territory of India includes states as well 1. 
as those union territories and territories 
that may be acquired by the Government 
of India at any future time
India can acquire foreign territories 2. 
through cession.
India has never acquired any foreign 3. 
territories in the past

Which of the above statements is/are correct?
2 only (a) 

1 and 3 only(b) 

1 and 2 only(c) 

1, 2 and 3(d) 

Consider the following statements regarding 17. 
the power of Parliament under Article 2:

It empowers Parliament to establish 1. 
new states that are part of the Union of 
India.
It empowers Parliament to admit into 2. 
the Union of India new states.

Which of the above statements is/are correct?
1 only (a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Which of the following statements is/are correct 18. 
regarding Parliament’s power to reorganize 
the States?

Parliament can increase the area of any 1. 
state but cannot diminish the area of any 
state.
Parliament can alter the boundaries and 2. 
the name of any state.
Parliament can form a new state by 3. 
separation of territory from any state.

Select the correct answer using the code given 
below:

2 only (a) 

2 and 3 only(b) 

1 and 3 only(c) 

1, 2 and 3(d) 

Consider the following statements regarding 19. 
Article 3:

A bill to form a new state under article 3 1. 
can be introduced in the Parliament only 
with the prior recommendation of the 
President.
Parliament is not bound by the views 2. 
of the state legislature and may either 
accept or reject them.

Which of the above statements is/are correct?
1 only (a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 


